Assembly Instructions For The Pergola Deck

Tools Needed: Parts List: Hardware:
Screwgun Deck Assemblies (2) 1/4” x 3-1/4” Carriage Bolts (6)
7/16” Wrench or Socket 1/4” Washers (6)
Square Drive Bit 1/4” Hex Nuts (6)
3” Screws (16)
Step1  Lay the deck assemblies at the desired location. The four square holes belong on the

Step 2

Step 3

outside corners for the posts.

Lift up the deck assemblies on one side & insert the six 3-1/4” bolts in the predrilled
holes in the center 2x4°s. Put the 1/4” washers and nuts on ends of the bolts and pull
deck assemblies tightly together with the 7/16” wrench or socket.

During assembly of the pergola the posts can be placed in the corners of the deck
right away or the pergola can be completely assembled first then placed in the deck.
Once pergola is assembled & in deck put two 3” screws through the 2x4 on the front
of each post & two screws through the 2x4 on the side of the posts to secure to the
deck. Hurricane posts are optional with the deck. If needed pound into the ground &
fasten to the side of the deck with hardware in the pergola pack.




